
Children in class B collect data about how they travel to school. 

Use the clues to work out what is missing from the pictogram.

Car Walk Scooter Bike Bus

All the totals are multiples of 5.

Twice as many children came by bike as by bus.

At least 5 children used each way of travelling.

15 children travelled by car.

More children walked than came by car.

Fewer children walked than came by scooter.

Bus was the least common way of travelling.

What does each symbol represent?

Can you find different ways to complete the 
pictogram?

Key         =       children

Draw Pictograms (2, 5 and 10)
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